bechna (IV MT) POJWV (in W) Enven an orthogonal basis for W: { W, , Wz} 7 W. v w jorgprojus J Proj 2 7 PROJUT = PROJUT + PROJUT

## 5.3 The Gram-Schmidt Procedure

**Example:** Let  $W = \text{span}(\begin{bmatrix} 1\\1\\1\\1 \end{bmatrix}, \begin{bmatrix} 1\\2\\4\\5 \end{bmatrix}, \begin{bmatrix} 1\\-3\\-4\\-2 \end{bmatrix})$ . Find an orthogonal basis for W.

$$\vec{J}_2 = \begin{bmatrix} \frac{1}{2} \\ \frac{1}{5} \end{bmatrix} - p n \hat{J} \times \begin{bmatrix} \frac{1}{2} \\ \frac{1}{5} \end{bmatrix}$$

$$= \begin{bmatrix} \frac{1}{24} \\ \frac{1}{5} \end{bmatrix} - \frac{\frac{3}{4}}{4} \begin{bmatrix} \frac{1}{1} \\ \frac{1}{1} \end{bmatrix}$$

$$=\begin{bmatrix} -2 \\ -1 \\ 1 \\ 2 \end{bmatrix}$$

$$=\begin{bmatrix} -2 \\ -1 \\ 2 \end{bmatrix} \quad \text{Partial Basis} \quad X = \mathcal{E}\begin{bmatrix} 1 \\ 1 \\ 2 \end{bmatrix}$$

$$\mathcal{J}_{3} = \begin{bmatrix} 1 \\ -3 \\ -4 \\ -2 \end{bmatrix} - \rho \mathcal{N}_{3} \times \begin{bmatrix} -3 \\ -4 \\ -2 \end{bmatrix}$$

$$=\begin{bmatrix} -\frac{1}{3} \\ -\frac{4}{2} \end{bmatrix} - proj \begin{bmatrix} 1 \\ -\frac{3}{4} \\ -\frac{1}{2} \end{bmatrix} - proj \begin{bmatrix} -\frac{1}{3} \\ -\frac{1}{4} \\ -\frac{1}{2} \end{bmatrix}$$

$$=\begin{bmatrix} -3 \\ -4 \\ -2 \end{bmatrix} - \begin{bmatrix} 1 \\ 1 \end{bmatrix} \cdot \begin{bmatrix} -3 \\ -4 \\ -1 \end{bmatrix}$$

$$=\begin{bmatrix} -\frac{1}{3} \\ -\frac{1}{2} \end{bmatrix} - \begin{bmatrix} \frac{1}{3} \\ -\frac{1}{4} \end{bmatrix} - \frac{1}{3} \begin{bmatrix} \frac{1}{3} \\ -\frac{1}{4} \end{bmatrix} \begin{bmatrix} \frac{1}$$

Example Continued...

$$= \begin{bmatrix} -\frac{1}{3} \\ -\frac{4}{7} \\ -\frac{1}{2} \end{bmatrix} - \begin{bmatrix} -\frac{1}{2} \\ -\frac{1}{10} \end{bmatrix} - \begin{bmatrix} -\frac{1}{2} \\ -\frac{1}{12} \\ -\frac{1}{2} \end{bmatrix}$$

$$= \begin{bmatrix} -\frac{1}{3} \\ -\frac{1}{4} \\ -\frac{1}{2} \end{bmatrix} + 20 \begin{bmatrix} \frac{1}{3} \\ -\frac{1}{4} \end{bmatrix} + 7 \begin{bmatrix} -\frac{1}{3} \\ -\frac{1}{3} \\ -\frac{1}{4} \end{bmatrix}$$

$$= \begin{bmatrix} 16 \\ -\frac{1}{7} \\ -\frac{1}{3} \\ 14 \end{bmatrix}$$

$$= \begin{bmatrix} 16 \\ -\frac{1}{7} \\ -\frac{1}{3} \\ 14 \end{bmatrix}$$

$$= \begin{cases} 1 \\ \frac{1}{3} \\ -\frac{1}{3} \\ \frac{1}{4} \end{bmatrix}$$

$$= \begin{cases} 1 \\ \frac{1}{3} \\ -\frac{1}{3} \\ \frac{1}{4} \end{bmatrix}$$

$$= \begin{cases} 1 \\ \frac{1}{3} \\ -\frac{1}{3} \\ \frac{1}{3} \end{bmatrix}$$

$$= \begin{cases} 1 \\ \frac{1}{3} \\ -\frac{1}{3} \\ \frac{1}{3} \end{bmatrix}$$

$$= \begin{cases} 1 \\ \frac{1}{3} \\ -\frac{1}{3} \\ \frac{1}{3} \end{bmatrix}$$

$$= \begin{cases} 1 \\ \frac{1}{3} \\ -\frac{1}{3} \\ \frac{1}{3} \end{bmatrix}$$

$$= \begin{cases} 1 \\ \frac{1}{3} \\ -\frac{1}{3} \\ \frac{1}{3} \end{bmatrix}$$

$$= \begin{cases} 1 \\ \frac{1}{3} \\ -\frac{1}{3} \\ \frac{1}{3} \end{bmatrix}$$

$$= \begin{cases} 1 \\ \frac{1}{3} \\ -\frac{1}{3} \\ \frac{1}{3} \end{bmatrix}$$

$$= \begin{cases} 1 \\ \frac{1}{3} \\ -\frac{1}{3} \\ \frac{1}{3} \end{bmatrix}$$

Comment: This procedure is called Gram-Schmidt Orthogonalization.

**Example:** Modify the basis above to create an orthonormal basis for W.

$$\left\{ \frac{1}{4} \left[ \frac{1}{1} \right], \frac{1}{10} \left[ \frac{1}{2} \right], \frac{1}{14} \left[ \frac{16}{14} \right] \right\}$$

**Example:** Find an orthogonal basis for  $\mathbb{R}^3$  containing  $\begin{bmatrix} 1 \\ 1 \\ 5 \end{bmatrix}$ . Start with any basis for TR3 Containing Say ([5], [0]) [0] It's a basis of R3 because (Fundamental Theorem of Invertible Matrices Section 3.5) Gram-Schmidt; Partal Basis X = { [5]}  $\overline{V}_{2} = \begin{bmatrix} 0 \\ 0 \end{bmatrix} - Pri_{X} \begin{bmatrix} 0 \\ 0 \end{bmatrix}$  $= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{27} \begin{bmatrix} 1 \\ 5 \end{bmatrix}$  $27\sqrt{2} = 27 \left[ \frac{1}{5} \right] - 1 \left[ \frac{1}{5} \right]$ =  $\begin{bmatrix} 26 \\ -\frac{1}{5} \end{bmatrix}$  Partial Basis  $X = \{ \begin{bmatrix} 1 \\ 5 \end{bmatrix} \begin{bmatrix} 26 \\ -\frac{1}{5} \end{bmatrix} \}$  Example Continued...

$$\vec{V}_{3} = \begin{bmatrix} 0 \\ 0 \end{bmatrix} - Proj_{X} \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - Proj_{X} \begin{bmatrix} 0 \\ 0 \end{bmatrix} - Proj_{X} \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{27} \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{(-1)}{702} \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{27} \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{(-1)}{702} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - 26 \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix} \\
= \begin{bmatrix} 0 \\ 0 \end{bmatrix} - \frac{1}{135} \begin{bmatrix} 0 \\ 0 \end{bmatrix} + 1 \begin{bmatrix} 0 \\ 0 \end{bmatrix}$$